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Classify the relationship between 26 §/8 u dBlal) Liia
/8 and 26.
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Refer to the porch stairs shown. (Soh Ao gall A3 A0 aldiw I fealls
Line m is parallel to line n and Gl MmZ1 g N andieall pam asiiceall
m21 is 130°, Find m25. MLS puld aagl .130°
&
pre—
Osor a
@ Osor b
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In the diagram shown, choose the Clu! A cragall aubddl) andl 2
correct conclusion. Tauall
1 4]
—-€ 37 >
2
Omle =mzs2 a
Omz1 =37 b
Omz1 +37° = 180° c
i Oms1+ms2 = 90° d
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What is the value of x in the fan fda g all 5as B u:. X Aaid st L
base?
O1ss
Oess° b
o
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Find the value of x. X dad aa

O30 a
O1s b
O 150 c
O7s d

o
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What is the polygon whose the sum ollg) Clulid Foana (g3l aliaall b L
of his interior angles equal 900°7? £900° (Sglud dalalall
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What is the measure of one interior Al JCA (B Baaly Aulals Ay uld La
angle in the octagon shown? Credasall &3y

M (@ IELE d
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Find the value of n in the right gl adla Clial) A D dad sag
triangle.
32 cm ncm
40 cm
Os :
Os1.2 b
Ozs ¢
i Oz24 d
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Find how long the piece of wood x. X ddl) dakd gk aa g
5cm
OJE a
O10.9 b
O ¢
o
v 'aY d
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Find the distance between the O oY By ookl ABlaial) sagl
points. Round to the nearest tenth. LBude
Ay
(3, 4
= o j ;
(2,-2)
|
Os a
Qes.1 b
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Use coordinate notation to describe

the translation from point A to point C.

Cra daliY) Chagl daliy) jead asddiul

Iy

O

Ox+6y+5)
Ox-6y-5)
Ox-5y-6)
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The figure is reflected over the Y ugaall e pagall JKAN el
y-axis. Find the coordinates of B’ dkdilly A" dhaill cldlaa) aagl
point A’ and point B’
rY
oA
°B
O3B 1,82 -2) a
OA(-3,1),B'(-2,-2) b
i O Aa(-3,-1),B'(-2,2) e
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Triangle ABC rotates clockwise Jea deladl wjlie olailh ABC &liall eu
about the origin. ) Adadi
What is the angle of rotation that TEbiall §) e i€ Al o)y gl) dugly ala
forms the image of the triangle?
by
A [;1
L
Over a
QOaisoe b
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A triangle has vertices A(2,1), 9 B(4,—3)5 A(2,1) Lugip ) &ulial
B(4,—3), and C(8, —2). Find the .C(8,—-2)
coordinates of the triangle after a Jalaay sl aad any Guliall cildlas) aa gl
dilation with a scale factor of 5. D Gyl Gulaia
OA'(20,10),B'(40,-30), C'(80,—20) a
OA'(1,0.5),B'(2,-1.5),C'(4,-1) b
OA'(4,2),B'(8,-6),C'(16,—4) e
OA'(10,5),B'(20,-15),C’ (40, - 10) d
o
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Calculate the scale factor of the ¢ rall JCLN saail) Jalaa (ubida coal
dilation for the given figure?
y
5,18’
A T c
T TG
-4 | | o] | 4
E D
& D
-5t
OF ]
4+ b
10
1
i = C
2
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Determine the two congruent <Blisadl) aladiuls Glialhaiall oML Jia
figures using the following saallal)
transformations: Aal)) duly alSadl

Reflection followed by translation.
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Determine the transformation that Ol CplCll) Claa Al CBLgaTl saa
makes the two shapes identical.
ol
a
Reflection
dalj)
il b
Translation
dal) Ay ol g

'®) ¢

Rotation followed by translation

Aal)) s ulsad

Reflection followed by translation
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Buthaina is creating a quilt using ratigl haadl) aladiols cilad slacl A3y a9l
the geometric pattern shown. In the A ABC =A DEF (€l A . gall
figure, A ABC =A DEF. SDF _ul@ L

What is the measure of DF?

sy
v
BT

6cm

m
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Determine the two similar shapes.
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Reham is making two different sizes (s (udlida (uasas il slac by algs) a gl
of blankets from the same material. 2 0.9m W alaal oY) duillad) L 1gald salall
The first measures 0.9 m by 0.5m. Jalea ddacgs Wi )l 389 20 0.5 m
She wants to enlarge it by dailiadd) Mlaol Lad L AGN Axladd) Sacy 2 slad
ascale factor of 2 to make the ¢ auilil)

second blanket. What are the

dimensions of the second blanket?

O1.25m x0.75m a
O1.8m x 1m b
Oz2.9m x 2.5m <
O15mx1.1m d
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Find the missing side measures. Jsgaall alll Jsh aa gl
18.7

O e

; b

02.5 C

@ @)1 d
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How tall is the driving cone? ogsall g saa Joh lada La

m h

Y

0.25m

01 m a
Qo.125m b
00.5 m C
o O175m d
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In the figure, A EFG =~A LMN. A EFG =ALMN (JS&) b
Find the value of x. X dad aa gl
F N L
25¢cm
15em (x + 5) cm
M
E 20 cm G
O1s a
O2zs b
O30 c
Oz2o0 d
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A ladder is leaning up against the addiu) L] el Qila A Sy At ,..L...
side of a house. Use two points to 5.1...11 Jea alady kil
find the slope of the ladder.
A
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Find the perimeter of the bigger CRSY) (S huaa aa
figure.
15 mm
10 mm
P=40mm P=7?mm
075 mm a
O60 mm b
045 mm C
050 mm d
o
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